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71 If asin ® + bcos 6 = cfind a cos 6 — b sin 0.
dfe asin®+ bcosO=cg dlacos O— b sin 0 &1

AT SITd hIToTU |
(A) Je?+a? —b? B) Ja?+b*—c?
(C) Ja?+b?+c2 D) Ja?+c2-p°




72 Ifsin®+cosO= \/5 sin 6 then find cos 6 — sin6.

Ife sin 6 + cos B = /2 sin O © dl cos O — sin O
BT | ST DI |

(A) /2 cos® B) /3 cos6




73 Find the value of sin10° s1n20° s1n30° s1in40°.
sin10° sin20° sin30° sin40° &1 A9 SITd DIV |
(A) 1/15 (B) 2/15
(C) 2/19 (D) 1/16




74 Find the value of cos20° cos40° cos60° cos80°.
c0s20° cos40° cos60° cos80° hT HM ST DHITIY |
(A) 1/15 (B) 2/15
(C) 1/16 (D) 2/19




76 Find the value of tan20° tan40° tan60° tand0°.
tan20° tan40° tan60° tan80° &1 A ST DIfSTY |

A) 1 B) 3

C) 4 D) 5




77 Find the value of sin10° s1n30° s1in50° sin70°.
sin10° sin30° sin50° sin70° &1 A9 SITd DIIY |
(A) 1/15 (B) 1/16
(C) 2/19 (D) 2/15




78 Find the value of 1 - sin10° s1in50° sin70°.
1 — sin10° sin50° sin70° T H19 1A DI |
(A) S5/6 B) S/7
(C) 4/9 D) 7/8




79 Find sinisinﬁsinﬁsinﬂ.
9 O 9 O

sin —sin o™ sin I sin o™ ITOTT |
- — — — DI Hi T Slld DIVl
9o 9 9 9 )

A) 3/16 B) 5/6

\

C) 4/9 D) 7/8




80 If 3sIn 6 + 4 cos 6 =5 find tan 0.

Uﬁ(Ssin9+4cose=5%,ﬁtan6¢l H9 S

DI |
A) 5/3

\

C) 3/5

B) 3/4
D) 5/4

1Cl



1 If 5sinB+ 12 cos 6 =13 find tan 6.

Je5sin0®+ 12 cos 6 = 18%\*,Fﬁ tan 0 dT AT SIId

DI |
A) 3/11 B) 7/12

\ \

C) 5/12 D) 12/7




82 If (& - b?*) sin 6+ 2ab cos 6 = a* + b* find tan 6.
IS (a? - b?) sin @+ 2abcos 6 = a2 + b &, Al tanb
DT HI ST HITOTT |

N —a’ +b° o a’ — b’
(A) 2ab (B) 2ab

—a‘* —b* a’ —b°
(C) (D)




83 If (x+y)sin®+ (x—y) cos 6= \/Q(xz +y°) find tan 6.

IS (x+y) sinB+ (x—y) cos O = \/2(x2 +y’) g, dI tan®
T HI ST HITOTT |

ytx X—Y
A B i
y—Xx Xty
©) yx D) T,



84 If xsin® + ycosb = \/x2+y2 and

cos” 0 N sin® 6 1 | |
2 1?2 2 +y2 then which one is
correct?
afg xsin @ + ycos 0 = x*+y® AR
cos” 0 N sin” 0 B 1 S oo o 3
az bz xz _|_y2 , Al df1—x1] ol o
x2 yQ xQ yQ
(A) az_l_bz:l (B) aQ_bgzl
xQ y2 x2 y2
(C) +==1 (D) -——=1



Q5 If tan? 06 + tan® 0 = 1 find cos? 6 + cos”0.

Jfe tan? 0+ tan* 0= 1%, dl cos? 0+ cos*OdT A

ST HITOTT |
A) -1 B) 1
C) 0 D) 2




86 If sin® 06 + sin* B = 1 find cot” 6 + cot"6.

Ife sin2 0+ sin“0=17% dl cot? 0 + cot*® T A

ST IS |
A) O B) -1

\

C) 2 D) 1

\




Q7 If sinx + sin“x = 1 find cos?x + cos*x.

Ife sinx +sin?x= 1%, A cos?x + cos*x T AMF
ST DIOTY |

A) O B) 1
C) 2 D) 3




88 If cosx +cos“x =1 find sin®x + 2sin°x + sin*x+ 1.
IfE cosx + cos?x =1 &, Al sin®x + 2sin’x + sin*x
+ 1 T {19 31 BISTT |

A) 1 B)

C) 5 D)

\




89 If sinx + sin“x = 1 find cos'?x + 3cos!’x +
3cos®x + cos’x .

IS sinx + sin?x = 1 § dl cos!2x + 3cosi0x +
3coséx + coslx T 9119 1A DITVU |
(A) 1 (B) 2

(€) 3 (D) 4



90 If xsin’0 + y cos’0 = sinb cosb and xsinb =y
cos 0 find »® + 1.

IS xsin®0 + Yy cos°0=s1n0O cosH 3N xsin b = Y
cos 0 &, A x2 + y? BT AT S DY |

(A) O (B) 2
(C) 1 (D) 3




01 If sin?a = cos’a find cota — cot?a.

IfE sin2o = cos®a &, Al cot®a — cot?a ®T HH
PITY |

A) -1 B) O

C) 2 D) 1




92 If u = cos” a+sinafind 2u - 3p, + 1.

are L= cos™ o+ sin"a g, al 21— 3u, + 1 T AT
ST DIOTT |

A) -1 B) O

C) 2 D) 3




. 4 4
_ 1 finq 22 P cos P

03 ¢ COS oc+sin4oc
cos’B  sin’p sina  cos”a

U[%{COS cx+smcx 1%65[8111 B+COSB
cos’p  sin’p sina  cos’a

AT ST DI |

(A) 2 B) 3

(C) 4 D) 1

Cal




04 If (sin x+ cosec x)* +(cos x + sec x)° = k + tan*x
+ cot“’x then find k

I (sin x + cosec X)2 +(cos x +sec X2 = k + tan?x

+ cotx ©, Al k &I A9 1A HIFY |
(A) 7 B) 9
(C) 5 (D) 11




1+2sinBcosHO
1-2sinBcosO

95 If29 tanb = 31 find

1+2s1inBcosH

Ife 29 tan®=31 & dr

70 |
A) 750 (B) 850
C) 900 (D) 950

]1-2sinBcosH el A =

iz

A a—



1
96 If secH = x+ — (0° < 6 <90°) find sech + tan®.

4 x
1
IS sech = x + A (0° < ® < 90°) &, I sech +
tan® &1 {9 A DI |
x -
(A) (B) 2x

2
2
€) 55



DIRECTIONS : Find the minimum and
maximum value of —

fader _IAAH 3R JAfTHTH A9 AT HIFSTY |
o7 sinb + coso.
@A) (-2 V2 ®) (-2 V3

©) (-v2, +2) D) (-3, V2)



DIRECTIONS : Find the minimum and
maximum value of —

e e RATH 3R SAMTHTH A S DI |
08 3cosO + 4s1in 0.
C) (=5,5 D) (-8, 3




DIRECTIONS : Find the minimum and
maximum value of —

e e RATH 3R SAMTHTH A S DI |

90 4s1n6+3cosO + 7.
A) (4, 13 B) (2, 12]
C) (3,15 D) (2,13




DIRECTIONS : Find the minimum and
maximum value of —

™~

e e RATH 3R SAMTHTH A S DI |

100 J3 cos0+sind-




DIRECTIONS : Find the minimum and
maximum value of —

e e RATH 3R SAMTHTH A S DI |

101 sin 20 — cos 20.

A) -2, 2 B) —/3,+2
(C) —3,+/5 D) —2,+/5



DIRECTIONS : Find the minimum and
maximum value of —

™~

e e RATH 3R SAMTHTH A S DI |

102 2731118)(81(:038-
A) (377, 57 B) (5%, 37
C) (377, 3° D) (5°, 2°




DIRECTIONS| : Find the minimum and
maximum value of —

™~

e RIAAH 3R IR TH A 1A DI |

103 165:11’16 . 4sir18 . 2(:058 . 1280059
A) (2-10, 210) B) (2-1°, 510

Q) (3, 6v) D) (410, 31




DIRECTIONS : Find the minimum and
maximum value of —

frder GATH 3R IfTBTH A =1 DI |

104 15 sin®0 + 10 cos?6.
A) (11,13 B) (15,17
C) (10, 15 D) (11, 19




DIRECTIONS : Find the minimum and
maximum value of —

e e RATH 3R SAMTHTH A S DI |

105 4 s1n?0 + 7 cos?6 + 5.
A) (9, 12) B) (8, 13)
C) (10, 11) D) (11, 13)




DIRECTIONS : Find the minimum and
maximum value of —

™~

e e RATH 3R SAMTHTH A S DI |

106 — 13 sin“0 — 21 cos?6.
(A) (=21, -15) B) (-19, -18)
(C) (21, -13) (D) (21, -23)




107  Find the minimum value of 4 sin?0 + 25

cosec-0.
4 sin?0 + 25 cosec?0 b =YAdH AT STd DI |
(A) 18 (B) 23

(C) 25 (D) 29



108 Find the minimum value of 16 sin“0 + 9

cosec-0.
16 sin20 + 9 cosec?0 BT YAdH HIF I DI |
(A) 15 (B) 18

(C) 28 (D) 24



109 Find the minimum value of 25 cosec<6 +25

s1n-<0.
25 cosec?0 + 25 sin?0 ®T =YAdH H1H S DITOT |
(A) 35 (B) S0

(C) 60 (D) 70



110 Find the minimum value of 10 cos?0+ 15

sin<o.
10 cos?0 + 15 sin?0 &1 ~gAdHd AT S1d DITSIT |
A) 25 B) 30

C) 45 D) 60

\ \



111 Find the minimum value of cos“0 + sec?8.

cos?0 + sec?0 bl =YAdH AT SI1d DI |




112 Find the minimum value of sec?9 +
cosec?0 + tan?6 + cot?6

sec’d + cosec’0 + tan®0 + cot*O dT YAdH HIT =il
PITT |

(A) 6 B) 7

€) 8 D) 5



113 Find the minimum value of sin?6 + cos“0
+ tan?0 + cot?*0 + sec?6 + cosec?6.

s1in?0 + cos?H + tan?0 + cot?0 + sec?0 + cosec’O hI

_IAdH A STd DI |
(A) S B) 7
(C) © (D) 10



